Pre-Calculus A
Verifying Identities Homework

Name : Ked
Date : J

Period: __

Please verify, simplify or factor each of the following on a separate piece of paper. Make sure you

show all work!

1. Verify cscx (cosx + sinx) = cotx + 1
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3. Verify secx —tanx sinx = cosx
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5. Verify sin x tan x — csc x tan x = -cos x
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2. Verify cos@ cot8
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4.’_\‘/;gmotx(tanx+cot x) = csc’x
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6. Verify
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7. Verify cot (g - x) cosx = sinx
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9. Simplify sec x cot x — cot x cos x
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11. Simplify cot?x — cot?x cos?®x &« G(F: (0F2 %
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8. Simplify cos x (sec x — cos x)

5 (OEXSRLR - Cot* X
2 ot L as?X
\ WSX
9 - wsPA

S sn*X
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12. Simplify sg:;c‘*x — tan*x
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13. Factor and simplify

csc?x-1
cscx—1

=) ‘mx*\ ,

Yy terms =) facior by

9rouping

14. Factor sec3x — sec?x —secx + 1
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15. Factor 3tan?x — 5tanx — 2 3y -5%-2 16. Factor 2sin®x + 3sinx—2  2y’43y%-2
Lont\x-2 Peuy-ix -3
(3ranx+) (rank -2) J e \ (2s0r-1) (swnx+2) o]
In(x-2)+\(x-2) = ax(x+a) ~1(x4a)
(oAt Y(*2) (ax-1)(X+a )
Answer Key (Simplifying and Factoring Problems Only}):
8.sinfxVv  9.sinxV 10. sinxv/  11. cos® x 12. 1+2tantx v 13. cscx+1 /

14. (secx —1)(secx +1)(secx—1) / 15. (3tanx+1)(tanx—2) v/ 16. (sinx+2)(2sinx—1) /



